RA2 ... PDE 2 SP

RA2 40,000 - 93,000 Sl = 400 75 80 292 @ 92X 300
JPE 80/1 70,000 - 160,000 lala e S = 600 178 110 385 -
JPE 80/2 ‘ 112,000 - 232,000 | EEVNTEY | = ‘ 600 ‘ 178 ‘ 115 ‘ 385 ‘ @ 122 X 370

PDE 0 140,000 - 300,000 sy Sy = 700 170 153 455 @ 165 X 380
PDEOH ‘ 200,000 - 400,000 | e S | = ‘ 700 ‘ 170 ‘ 153 ‘ 455 ‘ ¢ 165 X 380
PDE 0 SP 200,000 - 400,000 (SR = 700 170 153 455 @ 165 X 380
PDE 1 H ‘ 250,000 - 500,000 | BRI | - ‘ 810 ‘ 200 ‘ 165 ‘ 652 ‘ @ 165 X 380
PDE 1 SP 250,000 - 500,000 (SR = 810 200 165 652 @ 165 X 380
PDE1ASP | 400,000 = 700,000 | s | dse | 810 | 200 | 165 | 652 | @1esx3s0
PDE 1 B SP 700,000 - 840,000 (L] Juale 810 200 165 652 @ 165 X 380
PDE 2 900,000 = 1,500,000 sl dda e 50 e 960 220 194 810 =
PDE 2 SP 1,200,000 - 2,000,000 o e 960 220 219 810 -
10 1700 425,000-1500,000 RN Jsis | 1306 | 246 219 857 o
10 2100 620,000-1,900,000 slalaye 59 Jsie 1306 246 254 857 -
10 2800 \ 660,000-2,400,000 | sl 5 5 | Jeate \ 1306 \ 246 ‘ 254 ‘ 857 \ -
10 3400 £00,000-3,000,000 LRSI e 1835 300 340 1550 -
10 4400 ‘ 1,000,000-4,000,000 | EXPAPEH | e ‘ 1980 ‘ 300 ‘ 340 ‘ 1550 ‘ -
10 4400M 1,000,000-4,000,000 sl ada e a ame 1697 300 340 1660 -
10 5800 | 1,250,000-5,000,000 | e | b= [10s0 | 300 | 340 | 340 | -
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